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(1) 7. A figure that shows a line of symmetry is 
(D)perpemdicular line. 

(A) (B) 
3.Number of symmetrical line(s) which can be 

drawn for an equilateral triangle is 

(B)2 (A)3 ( (1) (D) 
(C)1 (D)4 

(1) 

4.If the diameter of a circle is 28 cm, then its 

radius is 
(A) 12 cm (B) 14 cm 8. The diameter of a circle is 0.02 m. The radius 

(C)10 cm (D) 11 cm. (1) will be 

(A) 0.01 m (B)0.1 m 
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metry that 15. The number of lines of symmetru 
(C)0.12 m (D) 0.20 m. (1) 

drawn in the given figure is 
(A) 0 (B) 1 
(C) 2 (D) 3 

9. A triangle with only one line of symmetry 1s (A) isosceles 
(B) equilateral 
(D) obtuse. 

(C) scalene 
(1) 

tectang 
16. Number of lines of symmetry that a . can have, is 

(A) 1 (B) 2 10. Number of lines of symmetry that a semicircle can (C) 3 (D) 4 have, is 
(A) 1 

(C) 3 
(B)2 
(D) 4. 

(1) 
17. The following figure having only one line ine of symmetry is 

11. In the following, a symmetrical figure is 

(A) (B) (A (B) 

(C) (D)S (1) (C) (D) 

12. A square has, 
symmetrical lines. 

18. A line which divides a figure into two identical (B) 4 (A) 2 

parts is called 

(A) a line of symmetry (B) a axis of symmetry 

(C) 3 (D) 5 (1) 

(C) symmetrical figure (D) folded lines. (1) 

13. There are lines of symmetry in a circle. 
19. The radius of a circle is 6 cm. The diameter of 

this circle is 
(A) 1 (B) 2 

(A) 6 cmn (B) 3 cm 
(C) infinite (D) 4 (1) 

(1) (C)9 cm (D) 12 cm. 

20. Number of rotational symmetry that a circle can 

have, is 

14. In the following English alphabets, a vertically 
symmetrical letter is 
(A) W (B) S 

(A) Infinite (B) 2 
(C) B (D) G (1) 

(D) None of these. (1) (C)4 
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